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5. Tom throws a football from the top of his building. The height of the ball is given by the formula:
h(t) ==12¢" + 7t +85, jwhere “h" is the height of the football and “t” is the number of seconds after the
throw. What is the domain and range of this scenario? When will the ball be
—
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. Atennis ball is dropped from a balcony. The height of the ball (h) above the ground is given by the formula
hi r)= 784-4.07. bhere “t” is the number of seconds after release. How high is the balcony from the

ground? When will the ball hit the ground?
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5. Tom throws a football from the top of his building. The height of the ball is given by the formula:
h(r)==12¢* + 7t +85, where “h” is the height of the football and “t” is the number of secqnds after the
throw. What is the domaigand range of this scenario?| When will the ball be falling to 36m?
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